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FR4 Bofn%l | IRH%E | IRHE (%) | HIFCO2E (g)
7 XK /I 107 6 5.6 34,467
woodt 93 72 77.4 380,743
A F 7 D 112 80 714 413,064
CEE A 57 46 80.7 258,709
¥ OH 31 25 80.6 131,979
b= - I 124 108 87.1 603,254
R 110 104 945 643,009
nmoo#E b 123 97 78.9 504,488
OB 19 18 94.7 138,538
= & b 94 64 68.1 424,572
(I S\ 47 39 83.0 186,154
i Kb 162 151 93.2 801,956
= 8 /N 22 21 955 108,658
X E /b 73 14 19.2 76,537
5 K b 19 19 100.0 101,679
B oA /b 47 39 83.0 190,168
(=T ]\ 48 48 100.0 271,413
X E /b 12 1 8.3 4,768
X % b 9 9 100.0 52,562
moE 12 12 100.0 60,634
B £ 14 2 143 10,583
& X b 11 10 90.9 46,456
B B E /I 9 8 88.9 44,838
5 | N 22 20 90.9 113,090
£ &R B /N 35 33 94.3 167,582
N E b 65 55 84.6 299,046
R B /b 32 28 875 136,863
x = b 18 15 83.3 66,112
HE OB 80 61 76.3 325,441
g OE 50 21 42,0 118,177
2 K 32 28 87.5 157,712
,@;ﬁ’ﬁg) 28 26 92.9 133,080
fgﬁf{m 77 70 90.9 402,866
a H 1,794 1,350 75.3 7,409,198




